

2010		-	
10-	8 :	:	3 :

(5) :

$$U_{1+1} = \frac{3}{2}U_n + \frac{1}{4} \quad ; \quad n \quad U_0 = \frac{2}{3} \quad (U_n)$$

$$V_n = -2U_n - 1 \quad ; \quad n \quad (V_n)$$

$$V_2 \quad V_1 \quad V_0 \quad U_2 \quad U_1 \quad -1$$

$$(V_n) \quad -2$$

$$n \quad U_n \quad n \quad V_n \quad -3$$

$$S_2 = U_0 + U_1 + \dots + V_n \quad S_1 = V_0 + V_1 + \dots + V_n \quad ; \quad -4$$

$$P = V_0 \times V_1 \times \dots \times V_n \quad \dots V_n \quad -5$$

(5) :

$$M \quad Z = x + iy \quad ; \quad Z' = \frac{Z - i}{Z + i} \quad -i \quad Z$$

. Z

$$\text{Im}(Z') \quad \text{Re}(Z') \quad -1$$

$$Z' \quad M \quad E \quad -2$$

$$\text{arg}(Z') = \frac{\pi}{4} \quad M \quad F \quad -3$$

$$Z'^{2010} \quad ; \quad Z = \sqrt{3} \quad -4$$

(10) :

$$g(x) = x - 1 + \ln x \quad ; \quad]0; +\infty[\quad g \quad -I$$

$$]0; +\infty[\quad g \quad (1)$$

$$g \quad (2)$$

$$g(x) \quad g(1) \quad (3)$$

$$(C_f) \cdot f(x) = \frac{x-1}{x} \ln x : \quad f \quad -II$$

$$\cdot f \quad f'(x) = \frac{g(x)}{x^2} : \quad x \quad (1)$$

$$\cdot \lim_{x \rightarrow +\infty} f(x) \quad \lim_{x \rightarrow 0^+} f(x) \quad (2)$$

$$\cdot f \quad (3)$$

$$\cdot f(x) = \ln x - \frac{1}{x} \ln x \quad (4)$$

$$h(x) = x \ln x - x : \quad]0; +\infty[\quad h \quad (5)$$

$$\cdot f \quad (6)$$

$$: \quad (C_f) \quad (7)$$

$$\cdot y = 0 \quad x = e \quad x = 1$$